(
2N %
0V190? (&)
11912 121 . k /

22 T2 Mann
n"v2a (N721n)

A

077 Y. i7m

_ / :TPIND = 0999 9NN VI
1913 "N MNY INN D930 NV
NYPY9N 7Y N At PN
:MNN DY : DWIIN OV : INOVN DY
ST HO 190
ST OV : 1IN NN NIV wpan
taniankal’ : NP :IND NI2YN VPN
WPas NAW
=
1N NoVM DY TIWAT WIS

409 MNY DIV DNAWNHN 13 IN DYWIIN BN HHRYINN NI MNID 1PN DX PI1aY v+

: MDY SUTIN DN :WUTIND NN MYY 1y NYRIN NN NRHN MDY
:MDYIOUTIN I"ND SUTIND 2PN MDY W MNVYN NINN 2PN MDY
:1D2AP 190N (9992 190) NNNY 7 YYD N

$9TNNN WX VIS

nJ - 2910 2 Thnn DO

- NNAVAN TN [OIX

I NIXNND / 'RWUNA 71020 DO NIRNNA / 'RIUNA 0'ITYN 21012
:UTINN 7N 'RIWUN 7101 I 3"IRNN 7na nIRNNnA yiNaY
nip7nn /Anannn :0"y — 'NWUN / nitn /Aknnna - NON'N
0w 7y 'on 0'0d
I NTPON ‘'on NTIPOY

oy 119920 OV

: mavn = 1997 /97




